
A = B

M J F C F T X J D I U F M

M J F C F S X P F M G M J O H

Einschiebebuchstabe  E = 2
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I N W C R Z H D A H M O A F S B T G E Y X

E P T I A E N B Q E J Z

A L N U E J F N H G I W A X C B O P E D V

F R N U W A E M S R T H D P Z I B F C Q S H E U
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Verschlüsselung:  SCOUT / PFADI

UP TD CP CD SP TD OP OF OD UD SF UA SA CF TP OA UP TP

CA SP UD TP CD UF SP SA UF TP OA :

OF TD OA UP TP CD UD SF TD TP OA SF TD OA UP TI CI SP OA TI UF CF
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CF CD SP CA CA CP TD UD UD TP CD ,

OF TD OA UP TP CD UD SF TD TP OA SF TD OA UP TI CI SP OA TI UF CF

CF CD SP CA CA TI TD OP TF TP CD ,

TP UF OA TP UF ,
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CA SP CD TF TP UF OA TP CD SI SP OA UF SA SA TP OD OP OF UA UD TP ,

TI CI TP UF OF TD OA UP TP CD UD UP CD TP UF OD OD UF CF CF CD SP CA CA

CA TP OF SA , TP UF OA OF SP SA CP TP OD TA SP TP OP TF OP OF TP OA
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CP SP OP TF TA TD SA SI TP CD ,

OD CA SP CD UD UF TP OD
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A = B

W F S N J T D I U B M M F A V U B U F O A V

F J O F N L F L T U F J H

S P M M U E B S B V T L M F J O F
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U F J H L V H F M O M F H U T J F B V G

F J O C B D L C M F D I V O E E S V F D L U

E J F L V H F M O G M B D I C F M F H U

T J F N J U T N B S U J F T V O E C B D L U
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T J F A F I O N J O V U F O C F J

I V O E F S U G V F O G V O E T J F C A J H

H S B E J N C B D L P G F O
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H V U F T H F M J O H F O
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Keilschrift
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